MONTAZNI NAVOD
KAPPA

~

JOSEF STRNAD




5 Ve

DILY A NARADI
.| NAZEV

Pracovni deska

e

Sloupek (noha)

Zarazky

Sroub M6x8

Sroub M6x16

Sroub M5x12

Imbusovy kli¢ 3mm

C
1
2
3
4 Dolni pFicka
)
6
7
8
9

Imbusovy kli¢ 4mm

|| J|O([OC O N[N |-

10 | Pfichytka kabeld




1.KROK




2.KROK

SROUB M6x8 8ks

IMBUSOVY KLIiC 4MM




3.KROK

SROUB M5x12 8ks

IMBUSOVY KLIiC 3MM




4.KROK

SROUB M6x16 8ks

IMBUSOVY KLIiC 4MM




5. KROK

PRICHYTKA KABELU




